EM505

Day 3 Homework.

A certain point in a loaded elastic body has the following state of stress, referred to a standard xyz coordinate system.
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(Units are MPa.)

· A second coordinate system is obtained by rotating the standard xyz system 15o counterclockwise about the z-axis.  Calculate the matrix, Q, which describes this coordinate transformation.

· Using the [Q]T[][Q] tensor transformation, find the stress components referred to this second coordinate transformation.

· Verify the above result using Mohr’s Circle.
· A third coordinate system is obtained by rotating the second coordinate system 45o counterclockwise about the original x-axis.  Using a method of your own choice, calculate the stress tensor which corresponds to this third coordinate system.  

Due:  Tuesday, March 18, 2003.
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